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SOCIAL STUDIES, Paper -1
A o {English version) :
Parts Aand B -
Time:2hre.dsmin . [Maximum Marks : 40

Instructions : _ . _ -

i i minuies are aifumted..m recd the question paper and 2 hrs. 30 min. are
allovated to write answers. ' T ' A :

2. . Part-A myst be answered in a separate ansiver sheet.

8. Students can take Paré-A (Question Paper) with them.

4. Maop of (India) and Pari-B (Bit Papér)_shnuki be attached to the anser |
sheet and should be hanided over to the inwgilator £,

Mﬂ_ﬁ;,
Time': 2 hours e | Marks : 30

SECTION-T = gq=4
NOTE: (i) Whrite answers to the FOUR questions. ' |
' (..r.'i)'_ Each question carries ONE mark, |
1.  Write any two slogans on the environmental protection.
2, Expand WTO,

3 In the context of development, two persons o groups of persons may seek
things which are conflicting. Give one exampie for this,

‘4. What is Arab Spring ?
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£ ,} erba answers to the FIVE questions,
“fit} Each questmn carries TWO marks,

- 5x2=10

5. Differentiate between environment's ‘Source functmn and ‘Sink function’.
6. Even in years of continueus drought, there was no drinking water shortage

in Hiware Bazar. What are the reasons for this ?

7. Study the information given below ant_i write your observations.

Sociel Backpground of short term migrants

in India, 2007-08

_____

-
________
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8. Obsgerve the map given below amd answar the fﬂ_liu“dng gquestions.
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Naine any two countries

.share

boundarieg with India.

the distance
between - the eastern .and
western mosi pumts of

their. | :
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How would the rapid extraction of natural reanu_mes effect t.he future

- development prospects ’ ? Explﬁln o

. NOTE :

C 10 {A)

.(B}

(i)

TON - ITI

Answer all the follnwmg questmns
i) Each gquestion carries FOUR marks_

4x4=16

" (iit) Each queshﬂn has mternal choice,

Explam the differances bet.wean the Eastarn Ghatg and the Western Ghats.
OR
“Pyublic Distribution System can ensure hetter f_ﬂﬂd Eecunty for people.”

. 'Explam

11. (A)

Read the paragra,ph given below ane.comment.

. The henefits of globahaatmn baye heen unevenly distributed, It hasg

~ bevefited well-off consumarscand also producers with skill, edncation

{B)

12. {A)

~and huge wealth, Certan services, enabled with technology, have

expanded; On the smer hand, thousands of small producers B.nd_
workers have geen their e:rnplo;s.rment and workers’ rights erode, It is

.important to understand the two-sided nature of globalisation.

. - OR- 53 > & ; ;
The organised sector offers jobs. that are the most sought-after. But the
amployment opportunities in the organised seetor have been expanding -
very slowly. As a result, a large number of workers are forced to enter
the unorganised sector jobs, which pay.a very low salary.
Q. Do you think organised sectur is better than unurgamsed sectnr 7
Give your opinion.

Observe the tahle and answer the fojlowing ql.]EEtlﬂTlE

Some dnta regardmg India snd its neighbours for 2013 |

i - JPer capitd]  Life Average |Expected (Human [evelopment]
Country | Ineome |[Expéctancy at| vears of | vears of | Index (HDD) rank |
= in§ |hbirth (Years) lsl:hmhng schoohing [« in the weorld
Sri Lanka| 5170 | . 75.1 9.3 127 92
- [India - 3285 658 44 - 107 136
Pakistan | 2566. |- 65.7 49 T8 146
Myanmar | 1817 ' 65.7 39 9.4 148
|Bangladesh, 1785 69.2 48 81 146
Nepal | 1137 691 | a2 89 157
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“Which cnuntr}r stands ahe-.ad nf India in all aspecta in HDI ?
' Mention the aspects that are. mnmdered m making Hurhan

Development Index.
Name the country that has the lowest per capita income.

' Give two suggestions for the improvement of the rank of India in

HDIL.
OR

(B} Plot the belaw mfor:matmn ona kar- g'raph Write your ebservatlnn

Tabie India Pﬂpuianan Sex Ratio 1951-2011

SLNo. | Year No. of females
_ - | for 1060 males
1. 1951 | - 946
2.1 1961 | a4l
3. | 19 | e
4 | 1081 934
5. 1991 529
6. | 2000 [ 933
7, 2011. [+ 943

13. ‘Liscate the fulluwmg in the given outime map of lndla

(A) (L)
2
(3)

® W
)
(3)
(4)

21E(A)
‘B

“The M{mnt Everest
Mampur

The Malwa Plateaﬁ '
'I('i)'

Lakshadweep
- OR

"The river which ﬂpws in Thar Desert.

The southern boundary of the Decean pl&téau. :
The state which has the lowest population density.

The latitude that divides India inio two halves.
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o 21E(B) |

SOCIAL STUDIES, Paper I

(En.ghsh persion)
Parts A and B |
Time ; 2 hrs. 45 min.j ' ' [Maximum Marks : 40
Instruction : Write the answers io the questwns in thw Part-B on the szstmn
' . paper n:selfand attach it to the answer book ﬂf Part-A.

Time : 30 minutes =~ v T o .+ Marks:10
SECTIOM, 1V L 20x=10 marks

NOTE :

1. Write the CAPITAL LETYERS (A, B, C;B) showing the correct answer for
the following questmns in the bmckets pmu:ded ayainst egch quesmm

2. Each question carries Y2 mark.
. 8.. Answer all the questmns
4.. Answers gre to be written on the quesrmn paper only.

5. Marks will not be awardﬂd in any cose uf over-writing, rewntmg ar Emsed

anaer 5
14, ‘The author of the hook “Silent Spring” : : S 1 1
(A) Rachel Carson (B Arundhati Roy -~
(C) Medha Patkar - (D Nomeof the above
Y K
16, Which article provides the Right to Life? L R
(A} Article2l =~ - ; (B) Article 22
- (C) Article 23 | (D) Article 24
21E(B)
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16. The origin of the river Krishna. 0 I
(A} " Triambak =~ (B) Mahabaleswar

(C)  Amarkantak : (T} M_ultai

17. - Total value of goods and services pmduced in g country
daring & particular year: '
(A) GDP - ' (B) NDP
@ GNP .. (D) NNP

18. Which cnast recewea ]c-w rmnfa.]l durms the south-weat monzoon ?
(A) Clrcar coagt. ' e} C‘ormnandal
() Utkal coast - (D) Canara coast

£9. The first Census was taken in India in ...
(A) 1872 - (B). 1772
© 182 - - (@) 1773
20. Liberalisation iﬁ India was started around ... -
(A) 1891 T (B) 2000 5 .
(Cr 1981 - IR 2001

21. The Ehlmhedlr.a Rnckshelters naed b:.r t.he early human,s were :

situated in this state, L :
(A) Madhya Pradesh -(H) Karnataka

(©) Kerala W D) Meihérashtra -

22. The first state that unplementc:d the Mid-day Meal Scheme :

- 1A} Andhra Pradesh (B) Karnataka
(0 TamilNadu - (D) Kerala
21E(B}
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23. Consider the fnll{}wmg statements. - - | | [
(1) Sikkim is the first state in India that planned to atht completely to
organic Farming.
(2} Uttarakhand too is following the game path of being lﬂﬂ% organic state.
" Which of the ahove statements i / arc True 5

A& (Menly -+ (B) 2 only |
(C) Both (1) &(2‘) (D) Nomeofthetwn.
24. The National Institute of Nutntwn is s:tuatecl at ... | [
{A) Chennuk ' N (B} Hydernuud
(C) Mumbai . (D} Deun
25. The winter crop seasan is-called " ; [
(A} Kharif . {B) Rabi '
(C) Ziad - _(D} None of t_he ahove,
26. The river that is called as ‘Padma’ in Bangladesh PR
(4) The Ganga : ' (B) TheIndus '
(C) The Brahmaputra = (D) The Sutlej
07, Which of the following helps to water conservation # A

(A} Borewells for irrigation should not be laid without permission.
© {B). Much water vonsuming crope Itke sugarcane should not be grown,
() Wise usage of drmkmg and 1rr1gated water.
(D) All the above.” °

28. Which uf the following statements is True in the context o

of service sector in India ? : L 1

(A) While service sector has gruwn, 9.11 gervice sector actlﬂtlea |

_ are alse growing equally well.
(B) While service sector has grown, all gervice sector activities ave

not growing egually well. '

(C) Service sector prnmdes employment only for highly educated people.
(D¥ The sectoral share c-f S-EI'\FIEE' seetor in G D. P is very low.

21E(BY
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29,  Kulu and Kangra valleys are present in these YBgRS : ' : 1 1.
~ (A) The Greater Himslayas, - g
(B} The Lesser Himalayas.
(C) The Shivaliks. -.
{I}) The Sahyvadri.

30. Mawkdok Dympep valley is situated in ... .‘ [ 1]
(A) Arunachal Pradesh (B) Seexim / |
(©) Meghalaya -~ (I4 Andhra Pradesh

31. The state where schooling réevamtion t_mk place. e - T |
(A) Asom (B)" Himachal Pradesh
{Cy Sikkim (D) . Tamilnadu

32. Cunsiderthe-fnllﬂwing statements. ' | g ¥, | [ ]

(1) Human activities are one of the causes of the globat warmmg
(2 Climate change happens at a global level,
Which of the above statements is/ ate true ?
(A] (1) only. :
{(B) (2) .Onl}'.
- (C) Both (1) & (2},
(I} None of the two.

Lo

33. Which of the ntlcm ing is not phyalcal cap;,tal T " | 1
(A) . Tools i C o4
{B) Machines.
(C)  Buildingg

(D) _' Salaries & Wages

. Z1E®R) MARCH, 2019
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